3 412 6 7 8 10 | | Ny 13 | 1 4 | 5
NO . REVISION BY CH | SUP| APPROVED DATE
A NOTES .
| MODULAR COIL ASSEMBLIES ARE SHOWN IN UPRIGHT POSITION FOR CLARITY PURPOSES.
2. SPACERS, PARTS 7 AND 8, ARE TO BE POSITIONED ACCORDINGLY AS MODULAR COIL WINDING
FORM - TYPE "B" IS LOWERED ONTO FIXTURE FRAME.
TYP (18) PLACES
B — | — | 63 150294 |"-8UNC-2B HEX NUT C'STL - IN PLT B
— | — | 62 NS 150168 |"-8UNC-2A x 4" LG H.H.C.S. C'STL - I0 PLT
@@ @@@ — | — | 9 | &l 150287 3/8-16UNC-2B HEX NUT C'STL - IN PLT
VP (16) PLACES — | — | 9 | 60 151365 3/8 SPLIT LOCK WASHER C'STL - IN PLT
— 9 | 59 151349 3/8 FLAT WASHER C'STL - IN PLT -
9 | 58 COMM FLOOR ANCHOR - 3/8-16 x 3" LG C'STL
TYP C4) PLACES @ | | || 57 | SE144-020-01 |SUPPORT RING WELDMENT SEE DWG
2 | 2 | 2 | 56 COMM COTTER PIN - @3/16 x | 1/2 LG C'STL - IN PLT
C 2 | 2 | 2 | 55 COMM CLEVIS PIN - @1" x 3 1/2 LG 1018 C'STL C
- — | 5 | — | 54 NS 150310 | 3/8-6UNC-2B HEX NUT C'STL - IN PLT __
— | 5 | — | 53 NS 150167 | 3/8-6UNC-2A x 4 1/2 LG H.H.C.S. C'STL - IN PLT
mww — | 3 | — ] 52 NS 150166 | 3/8-6UNC-2A x 3" LG H.H.C.S. C'STL - I0 PLT
= — | 8 | — | 51 NS 151374 | 3/8 SPLIT LOCK WASHER C'STL - IN PLT —
TYP Clhe) PLACES — | 13 | — | 50 NS 151373 | 3/8 FLAT WASHER C'STL - I PLT
8 | — | 16 | 49 NS 150164 |"-8UNC-2A x 3" LG H.H.C.S C'STL - IN PLT
— | 8 | — | 48 NS 150165 |"-8UNC-2A x 2 |/2 LG H.H.C.S. C'STL - I0 PLT
D 6 | 8 | 16 | 47 151372 " SPLIT LOCK WASHER C'STL - IN PLT D
T T o 24 | 8 | 16 | 46 151355 " FLAT WASHER C'STL - IN PLT
32 | 40 | 16 | 45 150292 3/4-10UNC-2B HEX NUT C'STL - IN PLT
@@@ Y REF — | 12| 12| 44 150157 3/4-10UNC-2A x 4" LG H.H.C.S. C'STL - IN PLT
— e (121 Ples 32 | 40 | 16 | 43 NS 150163 3/4-10UNC-2A x 3 1/2 LG H.H.C.S. C'STL - IN PLT —
— |16 | 16 | 42 150155 3/4-10UNC-2A x 2 1/2 LG H.H.C.S. C'STL - I0 PLT
29 | 17 | 17| 41 150154 3/4-10UNC-2A x 2" LG H.H.C.S. C'STL - IN PLT
TYP (4) PLCS @ 61 | 85 | 61 | 40 151370 3/4 SPLIT LOCK WASHER C'STL - IN PLT
E 93 | 125 77 | 39 151353 3/4 FLAT WASHER C'STL - IN PLT .
8| 18 | 18 | 38 150262 1/2-13UNC-2B HEX NUT 316 S/S
18 | 18 | 18 | 37 COMM [72-13UNC-2A x 3" LG H.H.C.S. (HIGH STRENGTH) 316 S/S
@@@ 18| 18 | 18 | 36 NS 151360 /2 SQUARE BEVEL WASHER MALL. [RON
- TYP (16) PLACES REF 18 | 18 | 18 | 35 151367 /2 SPLIT LOCK WASHER C'STL - IN PLT -
36 | 36 | 36 | 34 15135] /2 FLAT WASHER C'STL - IN PLT
// 4 | 33 SEI144-063-2 | SUPPORT PLATE - TYPE "H" (TYPE "A" MCWF) | SEE DWG
F me 4| 32 SE144-063-1  |SUPPORT PLATE - TYPE "G" (TYPE "A" MCWF) | SEE DWG
// — | 8 | 8 | 3 SE144-062-5 |SPACER PLATE SEE DWG F
TYP (5) PLACES TYP ‘81 PlLes — | 1| — 30 SEI144-062-4  |SUPPORT PLATE - TYPE "K' (TYPE "B" MCWF) | SEE DWG
— | — ] 29 SEI144-062-3 | SUPPORT PLATE - TYPE "J" (TYPE "B" MCWF) | SEE DWG
— | 2 | — | 28 SE144-062-2  |SUPPORT PLATE - TYPE "F" (TYPE "B" MCWF) | SEE DWG
- — | 4 | — ] 27 SEI144-062-1  |SUPPORT PLATE - TYPE "E" (TYPE "B" MCWF) | SEE DWG -
b | — | — | 26 SEI144-061-2  |SUPPORT PLATE - TYPE "D" (TYPE "C" MCWF) | SEE DWG
4 25 SEI144-061-1  |SUPPORT PLATE - TYPE "C" (TYPE "C" MCWF) | SEE DWG
2 24 | SE144-057-02 | INNER SUPPORT BRACKET WELDMENT (TYPE "C" MCWF) | SEE DWG
G 2 23 | SE144-057-01 |OUTER SUPPORT BRACKET WELDMENT (TYPE "C" MCWF) | SEE DWG G
— | 1 | — | 22 | SE144-056-010 |SUPPORT BRACKET WELDMENT - TYPE "K' (TYPE "B" MCWF) | SEE DWG
— | — | 2 SEI144-056-09 | SUPPORT BRACKET WELDMENT - TYPE "J* (TYPE "B" MCWF) | SEE DWG
— | | | — | 20 | SE144-056-08 |SUPPORT BRACKET WELDMENT - TYPE "H' (TYPE "B" MCWF) | SEE DWG
- — | 1 | — | 19| SEI144-056-07 |SUPPORT BRACKET WELDMENT - TYPE "G" (TYPE "B" MCWF) | SEE DWG -
— | 1 | — | 18| SEI144-056-06 |SUPPORT BRACKET WELDMENT - TYPE "F" (TYPE "B" MCWF) | SEE DWG
— | 1 | — | 17| SE144-056-05 |SUPPORT BRACKET WELDMENT - TYPE "E" (TYPE "B" MCWF) | SEE DWG
— | 1 | — | 16 | SEI44-056-04 |SUPPORT BRACKET WELDMENT - TYPE "D" (TYPE "B" MCWF) | SEE DWG
" — | 1 | — | 15| SEI144-056-03 |SUPPORT BRACKET WELDMENT - TYPE "C" (TYPE "B" MCWF) | SEE DWG "
— | I | — | 14 | SEI144-056-02 |SUPPORT BRACKET WELDMENT - TYPE "B" (TYPE "B" MCWF) | SEE DWG
— | 1 | — | 13| SEI144-056-01 |SUPPORT BRACKET WELDMENT - TYPE "A" (TYPE "B" MCWF) | SEE DWG
2 | 12| SEI144-055-02 [INNER SUPPORT BRACKET WELDMENT (TYPE "A" MCWF) | SEE DWG
- 2 |1 SE144-055-01  |OUTER SUPPORT BRACKET WELDMENT (TYPE "A" MCWF) | SEE DWG -
| 10 | SE144-053-01 |SUPPORT RING CLEVIS MOUNTING PLATE WELDMENT | SEE DWG
] | 9 SE144-052-01 |FIXTURE FRAME ASSEMBLY SEE DWG |
> — | 2 | — ] 8 SEI144-051-06 ["T" TYPE SPACER SEE DWG o
| — | 2 | — | 7 SEI144-051-05 ["C" TYPE SPACER SEE DWG S
@@@@ | | 6 SEI144-049-01 |WINDING FRAME HEADER ASSEMBLY SEE DWG <
| 5 SEI41-116 MODULAR COIL WINDING FORM - TYPE "C" | SEE DWG | 6 |=
PLACES — — | 4 SEI41-115  |MODULAR COIL WINDING FORM - TYPE "B" | SEE DWG | 6 [&
- 3 SEI41-114 MODULAR COIL WINDING FORM - TYPE "A" | SEE DWG | 6 |3
— | 4 | — | 2 THIS DWG SLEEVE - @175 0.D. x @1.50 1.D. x | 1/4 161026 C'STL| 24 |=
COMMON FRAME USED — | — ] THIS DWG SLEEVE - @1.750.0. x @1.50 1.D. x 2 1/8 LG|1026 C'STL| 6
FOR ALL ASSEMBLIES — THIS DWG MOD COIL WINDING FORM - TYPE "C" TO SUPT RING ASSEMBLY 6
) — THIS DWG MOD COIL WINDING FORM - TYPE "B" TO SUPT RING ASSEMBLY 5 |°
— THIS DWG MOD COIL WINDING FORM - TYPE "A" TO SUPT RING ASSEMBLY 6
RELEASED FOR a95y | Asey |ASSY| NG |  DRAWING NO. oR DESERPTI6N MATERTAL |pFop
PPPL Drafting: ? Jerry Siegel 09:50:16 COMPUTER GENERATED| ¢rnTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
SEE NOTE | MANUDARLchlHNAGNGES PRINCETON UNIVERSITY
NOT PERMITTED  |UNLEss oTHERWISE sPeciFiED|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT oo £ DIMENS IONS ARE TN INCHES MODULAR COTL ASSEMBLY
K 9469 .6 Ibs A o s :oueiFsA.C:oss//ozo MODULAR COIL W|NV[\>/mg lngmN%Agﬁwg% RING ASSEMBLIES | K
01 ASSEMBLY MODULAR COIL WINDING FORM - TYPE "A" TO SUPPORT RING ASSEMBLY S e FITSTYR T ——
NEXT ASSEMBLY  [DECIMAL-INCH| FRACTIONS | CHK: S. RAFTOPOULOS | 10-05-04
RELEASE LEVEL: Fabrication | 447050 G |5 S [evor o omamonswn [1o-0s-ue | O£ 144-090
DWG VERSION NO: 1 ENGINEER ,;ﬁéﬁLARf,'_},;??; ;3“'7:0“21 SUPV: J. SIEGEL 10-05-04 | SHEET | OF 9 REV| 0
3 41z © 1 3 | 1 0 | S 12 | 3 | | 4 NCSX_ASSY_FORMAT_E



jsiegel


w
I~
0LD

oL
™o

| 3

| | 4

| |5

FOLD

TYP (2) PLACES 0

NOTE
ORTENTATION

ez

/

//

FRONT ISOMETRIC VIEW

SEE NOTE |

NO.

REVISION

BY | CH

SUP| APPROVED

DATE

RELEASED FOR
FABRICATION / INSTALLATION

PPPL Drafting: "/ Jerry Siegel

2004.10.19
09:50:16
-05'00

FOR BILL OF

MATERIAL AND NOTES SEE SHEET |

FOLD

b
(=]
==
=)

NCSX-SE144-050

COMPUTER GENERATED
DRAWING
MANUAL CHANGES
NOT PERMITTED

CENTRAL FILES:

UNLESS OTHERWISE SPECIFIED

PRINCETON PLASMA PHYSICS LABORATORY
PRINCETON UNIVERSITY

NATIONAL COMPACT STELLARATOR EXPERIMENT

DIMENSIONS ARE IN INCHES

MODULAR COIL ASSEMBLY

RELEASE LEVEL: Fabrication

w
I~
FoL

DWG VERSION NO: 1
9 | 10

WE|GHT Pro E 'W
MACHINE SURFACES WINDING RING ASSEMBLY
9469.6 1bs PO NG Drawine M| Break sware €ocEs .005/.020 [ MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES
MODEL NAME TOLERANCES NON-CUMULATIVE | DSN:L. MORRIS 10-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS I CHK: S. RAFTOPOULOS | 10-05-04

SE|44_O5O +/-.1 et +/-1171 -
oG T 030 [veeaee orise| ENGR: . CHRZANOWSKI | 10-05-04 SE144 050
ENGINEER e e e supy: UL SEIGEL 10-05-04 | SHEET 2 OF 9 REV

FOLD
™o

| 3

| | 4

NCSX_ASSY_FORMAT_E


jsiegel


()
w
I~
OLD
n
»
—
o
O
C_>
oL

:)

13 | | 4 | 5
NO . REVISION BY CH | SUP| APPROVED DATE

(3)wer
B , B

- C
_ [FoLD
. D
: E

‘ 2L _ D © TYP (4) PLACES
F S _— - QOO
TYP (4) PLACES
- G
H OO0 7 |
TYP (4) PLACES www

TYP (4) PLACES

REAR ISOMETRIC VIEW - REF

FRONT ISOMETRIC VIEW - REF

FOLD FOLD

| MODULAR COIL WINDING FORM - TYPE "A" SHOWN

WITH MOUNTING BRACKETS IN PLACE PRIOR TO

O
POSITIONING OF WINDING FORM ON FIXTURE FRAME ASSEMBLY pl
.
3
RELEASED FOR .
- FABRICATION / INSTALLATION >
) Jerry Siegel 2 S
PPPL Drafting: ¢ JEITy Slegel o=
J J
FOR BILL OF MATERITAL AND NOTES SEE SHEET |
COMPUTER GENERATED| ~rnTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
o WIS e PRINCETON UNIVERSITY
NOT PERMITTED  |UNLEss oTHERWISE sPeciFiED|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro E DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
MACHINE SURFACES'S/ WINDING RING ASSEMBLY
K 9469.6 Ibs D0 S e Dhanve 'O [ reak suare epces o005/ 020 | MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES | K
MODEL NAME TOLERANCES  NON-CUMULATIVE | DSN:L. MORRIS 10-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: S. RAFTOPOULOS | 10-05-04
M M | 44_ X +/-.1 -2t +l-1171 -
RELEASE LEVEL Fabrlcatlon WELDINiE 0o0 XX +/-.ogg ?2?2 +/-|/Z ENGR:J. CHRZANOWSK | 10-05-04 SE144 050
DWG VERSION NO: 1 ENGINEER aeoLarer o e Lover 1a0mr sl SUPV: U siEGEL 10-05-04 | SHEET 3 OF 9 REV | 0
fa 3 41z S 6 1 3 9 | 1 0 | 3 12 | 3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


3 43 5 6 7 8 9 |0 N = 13 | | 4 | 15
NO . REVISION BY CH | SUP|l APPROVED DATE
A
A
TYP (18) PLACES
B (43)(39 —(39 (40 (45 B
TYP (16) PLACES
C C
TYP (12) PLACES B
D (4)(39)(40) D
TYP (6) PLACES
F F
TYP (8) PLACES
- @ SEE NOTE 2
l__
TYP (5) PLACES @ TYP (8) PLACES
G G
TYP (2) PLACES
H H
) = )
=
TFOLD | [FOLD
|
O
Y@
i
=
RELEASED FOR —~
D
_ FABRICATION / INSTALLATION -
)] Sj | ooso1s S
PPPL Drafting: ¢ JEITY Sl€QgEl T =
J J
FOR BILL OF MATERIAL AND NOTES SEE SHEET |
COMPUTER GENERATED : PRINCETON PLASMA PHYSICS LABORATORY
e ANUAL CHATE P — NATIONAL COMPACT STELLARATOR EXPERIMENT
SEE NOTE | NOT PERMITTED UNLESS OTHERWISE SPECIFIED
WE IGHT DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
e MACHINE SURFACES'S/ WINDING RING ASSEMBLY
g 072 ASSEMBLY MODULAR COIL WINDING FORM - TYPE "B" TO SUPPORT RING ASSEMBLY 9843.2 Ibs D0 HOT R s rORMATION | greak suare £oces .00s/.020 | MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES | !
MODEL NAME TOLERANCES NON-CUMULATIVE DSN:L. MORRIS |0-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS I CHK: S. RAFTOPOULOS | 10-05-04
RELEASE LEVEL: Fabrication  |—— =" "¢ G U | een s canzaonsnr | 100s-0s | 201442090
DWG VERSION NO: 1 ENGINEER ,;ﬁéﬁLARf,/_},;??:, ;sER'f:o;:ﬁ; SUPV: J. SIEGEL 10-05-04 | SHEET 4 OF 9 REV| 0
3 41z S 6 1 3 9 | 1 0 | S 12 | 3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


3 4|8 5 © I 8 9 | O || s |2 | 3 | | 4 | )
NO. REVISITON BY | CH | SUP|[ APPROVED DATE
8 A
B B
C C
“FoLD| [ForD
D D
i E
- |
l__
TYP (8) PLACES
) \\\\\\\\\\\\-/<:j//////// )
G G
&
PL
.
_ : )
d )
H H
“FOLD| FoLD
|
(@
Y@
<
3
RELEASED FOR %z
- \ / FABRICATION / INSTALLATION .
o i . 2004.10.19 =
\6!\%/ PPPL Drafting: < Jerry Siegel oot
/ J
FRONT [SOMETRIC VIEW
SEE NOTE |
FOR BILL OF MATERIAL AND NOTES SEE SHEET |
COMPUTDERRAVﬁENNGERATED CENTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
MANUAL CHANGES PRINCETON UNIVERSITY
NOT PERMITTED  |UNLEss oTHERWISE sPeciFiED|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro E DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
MACHINE SURFACESV/ W|NG R|NG ASSEMBLY
K 9469.6 Ibs D0 T S G Do 'O [ Break suare ebces .o0s/.020 | MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES | K
MODEL NAME TOLERANCES NON-CUMULATIVE | DSN:L. MORRIS 10-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: S. RAFTOPOULOS | 10-05-04
RELEASE LEVEL: Fabrication WELDINiE (447050 _ s+2720 eriss| ENGR: J. CHRZANOWSKI | 10-05-04 SE144-050
DWG VERSION NO: 1 ENGINEER /.\NGULAR+/-0;-|5' OVER 120"+/ :/‘21 SUPV: J. SIEGEL 10-05-04 | SHEET 5 OF 9 REV

w
~
FOL
o
»
—
o

9 | 10

FOLD
™o

| 3

| 1 4

NCSX_ASSY_FORMAT_E


jsiegel


()
w
I~
OLD
n
»
—
o
O
;;;
FOLD
;:;

13 | | 4 | 5

FOLD

FOLD

NO. REVISION BY | CH | SUP| APPROVED DATE

A
B
C
[FoLd
D
'T Y F) ( 53 ) [D L./\(: E:ES "llil‘;ll)
E
TYP (2) PLACES \4
<::::::::::>‘\\\\\\\\\\1.~ ///////2;// ___
0
0
o
) F
PLACES o
TYP (2) PLACES G
TYP (2) PLACES
H
TYP (2) PLACES TYP (4) PLACES
TYP (4) PLACES PP fe) PLACES FoLD
REAR ISOMETRIC VIEW - REF
&
RELEASED FOR =
FRONT ISOMETRIC VIEW - REF
FABRICATION /INSTALLATION
= i 2004.10.19
. e (1 09:50:16
MODULAR COIL WINDING FORM - TYPE "B" SHOWN WITH PPPL Drafting: ¢ JEIry Siegel e ]
MOUNTING BACKETS IN PLACE PRIOR TO POSITIONING OF
WINDING FORM ON FIXTURE FRAME ASSEMBLY
FOR BILL OF MATERIAL AND NOTES SEE SHEET |
COMPUTER GENERATED[ ryrRaL FILES: PRINCETON PLASMA PHYSICS LABORATORY
MAN&ﬁfﬂ#ﬂ%GES PRINCETON UNIVERSITY
NOT PERMITTED  |UNLEss oTHERWISE sPeciFiED|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro E DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
MACH INE_SURFACES'S WINDING RING ASSEMBLY
9843 .2 1Ibs D0 O R 1 i ORMATION | apea suare £0ces .005/.020 [ MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES | K
MODEL NAME TOLERANCES NON-CUMULATIVE | DSN:L. MORRIS 10-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: S. RAFTOPOULOS | 10-05-04
RELEASE LEVEL: Fabrication | ———"——" ¢ G U R ey cmamonsnr | 1005 00| P01 447090
DWG VERSION NO: 1 ENGINEER veniamn s e e suPY: UL SIEGEL 10-05-04 | SHEET 6 OF 9 REV| 0

FOLD
™o

™o
W
I~
FOL
n
»
—
o

9 | 10 X

13 | | 4 NCSX_ASSY_FORMAT _E


jsiegel


3 4|2 5 6 I 9 1 0 N 2 12 | 3 | | 4 | )
NO. REVISITON BY | CH | SUP|[ APPROVED DATE
A
A
TYP (18) PLACES
| OOROO0: |
TYP (32) PLACES
C C
TYP
D D
E E
l__
l__
TYP (5) PLACES
G G
H H
“FOLD| [FoLD
|
(@
Y@
.
3
RELEASED FOR "
wD
— FABRICATION / INSTALLATION .
&~ . 2004.10.19 g
no 09:50:16 =
PPPL Drafting: o Jerry Siegel o
J J
FOR BILL OF MATERIALS AND NOTES SEE SHEET |
COMPUTDERRAV\%ENNGERATED CENTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
A AANG o PRINCETON UNIVERSITY
REAR ISOMETRIC VIEW NOT PERMITTED  |UNLESS oTHERwISE sPeciFiED| NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT o DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
SEE NOTE e MACH INE_SURFAcCES'Y/ WINDING RING ASSEWBLY
K 9434.9 1Ibs D0 T S NG Do 'O [ ereak suare ebces .o0s/.020 | MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES | K
MODEI_ NAME TOLERANCES NON-CUMULATIVE J DSN:L. MORRIS 10-05-04 | DRAWING NO:
03 ASSEMBLY MODULAR COIL WINDING FORM - TYPE "C" TO SUPPORT RING ASSEMBLY S lad 05004 VEXT ASSEMBLY |oeciwaL e | fracTions [enm s rartorosios | 1o o5 0a
RELEASE LEVEL: Fabrication | ——- LU | een s canzaonsnr | 0705 00| 20144090
DWG VERSION NO: 1 ENGINEER AGULARe/ 157 | avER 1204/ 1/2 | SUPV: J_ SIEGEL 10-05-04 | SHEET 7 OF 9 REV| O
3 4‘% S 6 1 9 | 1 0 | S 12 | 3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


()
w
I~
OLD
n
»
—
o
O
C_>
oL

:)

13 | | 4 | 5

NO. REVISION BY | CH | SUP| APPROVED DATE

RELEASED FOR
FABRICATION / INSTALLATION
PPPL Drafting: 2) Jerry Sleg el fz);;;%%llloélg

FRONT ISOMETRIC VIEW

b
(=]
==
=)

NCSX-SE144-050

SEE NOTE |
FOR BILL OF MATERIALS AND NOTES SEE SHEET |
COMPUTER GENERATED| ~rnTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
o WIS e PRINCETON UNIVERSITY
NOT PERMITTED  |UNLEss oTHERWISE sPeciFiED|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro E DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
MACH INE SURFACES\/ W|NG R|NG ASSEMBLY
9843.2 1bs %0 N1 SCALING DRAWING | | BREAK SHARP EDGES .0057.020 | MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES
MODEL NAME TOLERANCES  NON-CUMULATIVE | DSN:L. MORRIS 10-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS | CHK: S. RAFTOPOULOS | 10-05-04
RELEASE LEVEL: Fabrication | ———"——" ¢ G U | een s canzmonsnr | 0705 00| 20144090
DWG VERSION NO: 1 ENGINEER MGULARS /015 | oveR 120er-1/2| SUPV: J. STEGEL 10-05-04 | SHEET 8 OF 9 REV | 0
fa 3 41z S 6 1 3 9 | 1 0 | 3 12 | 3 | | 4 NCSX_ASSY_FORMAT_E


jsiegel


()
w
I~
OLD
n
»
—
o
O
C_>
oL

:)

13 | | 4 | 5

NO. REVISION BY | CH | SUP| APPROVED DATE

A
) DOROO® B
TYP (4) PLACES
TYP (4) PLACES
C
[FoLD
D
E
l__
G
= H
00 AR
TYP (4) PLACES m TYP (4) PLACES o
[FoLD
REAR |ISOMETRIC VIEW - REF o
V@)
FRONT [SOMETRIC VIEW - REF Z
3
MODULAR COIL WINDING FORM - TYPE "C" SHOWN "
WITH MOUNTING BRACKETS IN PLACE PRIOR TO o
POSITIONING OF WINDING FORM ON FIXTURE FRAME ASSEMBLY %
RELEASED FOR =
FABRICATION / INSTALLATION
) iegel  oosoic
PPPL Drafting: ¢ JEITYy Slegel o= J
FOR BILL OF MATERIALS AND NOTES SEE SHEET |
COMPUTER GENERATED| ~rnTRAL FILES: PRINCETON PLASMA PHYSICS LABORATORY
o WIS e PRINCETON UNIVERSITY
NOT PERMITTED  |UNLEss oTHERWISE sPeciFiED|  NATIONAL COMPACT STELLARATOR EXPERIMENT
WE IGHT Pro E DIMENSIONS ARE IN INCHES MODULAR COIL ASSEMBLY
MACHINE_SURFACES'Y/ WINDING RING ASSEMBLY
9434.9 lbs P SCALING DRAWING O | BREAK SHARP EDGES 005/.020 | MODULAR COIL WINDING FORMS TO SUPPORT RING ASSEMBLIES | X
MODEL NAME TOLERANCES NON-CUMULATIVE | DSN:L. MORRIS 10-05-04 | DRAWING NO:
NEXT ASSEMBLY DECIMAL-INCH| FRACTIONS [ CHK: S. RAFTOPOULOS | 10-05-04
RELEASE LEVEL: Fabrication  |——— -t 20" G U | een s canzaonsnr | 100 0s | O 144-090
DWG VERSION NO: 1 ENGINEER OULAR 0% 15+ | ovER 130mes 1| SUPV: J.STEGEL 10-05-04 | SHEET 9 OF 9 REV| 0

™o
W
I~
FOL
n
»
—
o

9 | 10 X

FoL
™o

13 | | 4 NCSX_ASSY_FORMAT _E


jsiegel


		609-234-2133
	2004-10-19T09:50:16-0500
	pppl
	Jerry Siegel
	I am approving this document




